South Coast Baptist College



ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 22nd December 2023 Using "8J3V" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be dispatched for \$5.00, no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 22nd December 2023.

Orders placed after the 22nd December will incur a fee of up to \$12.00. If ordering later, please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided

 Item
 Item
 Qty
 Unit
 Total

 Office Use
 Description
 No. Reqd
 Reqd Price \$ Amount \$

YEAR SEVEN

Please note that there are digital products (eCode or cCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

Please allow sufficient time for digital resources to be processed and made available to the student after purchase. When ordering after the return due date some items may go to backorder and need to be reordered from the supplier.

	aller the return due date some items may go to backorder and need to	be reordered in	om me supp	iici.		
	ESSENTIAL STATIONERY					
P52324	South Coast Baptist College A4 4D Black 50mm Binder	1		2	10.60	21.20
	(Compulsory AVID filing system for all students)					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	2		1	1.40	1.40
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	3		7	1.83	12.79
P52844	Computer Wireless Mouse Black	4		1	24.60	24.60
	(Recommended Purchase)					
P55706	Dividers Index A4 10 Tab Manilla Bright Colours	5		2	1.92	3.83
P50281	Document Envelope A4 PP With Press Stud Clear	6		1	1.06	1.06
P51396	Earphones - In Ear Stereo Black	7		1	5.36	5.36
P58510	Eraser Plastic Pencil Large With Sleeve	8		1	0.34	0.34
P50130	Glue Stick UHU 40 gm	9		4	2.85	11.39
P54137	Graph Binder Book A4 128 Page 5mm Spirax #135	10		2	2.38	4.76
P52866	Hand Sanitiser Gel 70% Ethanol 70ml with case	11		1	5.91	5.91
P50613	Highlighters Pkt 4 Assorted	12		1	6.55	6.55
P55097	Lever Arch File A4 75mm Board	13		4	4.55	18.19
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	14		1	3.23	3.23
P56328	Pocket Plastic A4 11 Hole Pkt 10	15		2	1.11	2.21
P50090	Ruler 300mm Wooden	16		1	0.94	0.94
P56094	Pen Ballpoint Cap Type Black Medium	17		2	0.30	0.60
	(Black pens are optional and may replace blue pens)					
P56095	Pen Ballpoint Cap Type Blue Medium	18		6	0.30	1.79
P56096	Pen Ballpoint Cap Type Red Medium	19		4	0.30	1.19
P52001	Pencil (2B) Goldfaber	20		4	0.55	2.21
P51234	Pencil Case 340x100mm Tartan Large	21		1	2.68	2.68
P50161	Scissors 170mm Maped Plastic Handle	22		1	1.96	1.96
P51259	Sharpener Pencil Plastic Barrel Single Hole	23		1	0.64	0.64
	COMPULSORY SUBJECTS Students are required to study compulsory subjects.					
	BIBLE & CHRISTIAN STUDIES No additional requirements.					
P50452 P50281	CHINESE Binder Book A4 96 Page 8mm Premium with Margin Spirax Document Envelope A4 PP With Press Stud Clear	24 25		1	1.40 1.06	1.40 1.06
	DIGITAL TECHNOLOGIES No additional requirements.					
P18157 P11256	ENGLISH Pearson English 7 SB/EB [Pryor et al] Cambridge AC Essential English Skills Yr 7 WB 2E [Brownhill et al]	26 27		1	59.46 21.21	59.46 21.21

Please tick the items required in the box provided

V Qty Item Unit Total Item Description Reqd Price \$ Amount \$ Office Use Read **HEALTH** No additional requirements. **HUMANITIES & SOCIAL SCIENCES** C10832 Oxf Big Ideas WA Hum & Social Sci 7 Print&Dig (Provisioned) DIGITAL ITEM 69.95 28 69.95 This item contains a physical book (Oxford Big Ideas WA Humanities & Social Sciences 7) and a digital resource for Humanities and Social Sciences. The book will be included in your order and digital access will be provided in class. Please choose carefully before ordering this product as once purchased, this resource cannot be returned, refunded or exchanged if you change your mind. **MATHEMATICS** P52000 Calculator Casio Scientific FX-82AU Plus II 2E 29 41.95 41.95 **ADVANCED & CORE** C10190 Camb AC Essential Maths 7 3E Print & Digital (Provisioned) DIGITAL ITEM 72.95 72.95 30 This item contains a physical book (Cambridge AC Essential Maths 7 3rd Edition) and a digital resource for Mathematics. The book will be included in your order and digital access will be provided in class. Please choose carefully before ordering this product as once purchased, this resource cannot be returned, refunded or exchanged if you change your mind. C10356 72.95 72.95 Camb AC Essential Maths CORE 7 Print & Digital(Provisioned) 31 DIGITAL ITEM This item contains a physical book (Cambridge AC Essential Maths CORE 7) and a digital resource for Mathematics. The book will be included in your order and digital access will be provided in class. Please choose carefully before ordering this product as once purchased, this resource cannot be returned, refunded or exchanged if you change your mind. SCIENCE C10808 Cambridge WA Science 7 Print & Digital (Provisioned) DIGITAL ITEM 72.95 72.95 This item contains a physical book (Cambridge WA Science 7) and a digital resource for Science. The book will be included in your order and access to your digital resource including log in details will be provided to you during class. Please choose carefully before ordering this product as once purchased, this resource cannot be returned, refunded or exchanged if you change your mind. **VISUAL ART** P55439 8.12 Display Book A3 20 Pocket Black Insert Cover (Non-Ref) 33 8.12 **ELECTIVES** For all electives not mentioned in the Booklist, no additional requirements are needed. **CREATIVE WRITING & PUBLISHING** P55158 Binder Book A4 128 Page 8mm Premium with Margin Spirax 1.83 1.83 34 1 P50281 35 Document Envelope A4 PP With Press Stud Clear 1.06 1.06 FOOD & TECHNOLOGY 1 x Food Storage Container (1.8L) **MEDIA ART Design Photography & Film Production** No additional requirements. **MUSIC** No additional requirements. **OUTDOOR EDUCATION** P55158 Binder Book A4 128 Page 8mm Premium with Margin Spirax 36 1.83 1.83

Please tick the items required in the box provided

 $\sqrt{}$

Total

Amount \$

Qty Item Item Unit Office Use Description No. Reqd Reqd Price \$ **TEXTILES** No additional requirements. **ACADEMY & PROGRAMS FOOTBALL ACADEMY** No additional requirements. **GATE PROGRAM** No additional requirements. **GYMNASTICS ACADEMY** No additional requirements. **VOCAL ACADEMY** No additional requirements. Number of Boxes ticked: \$5.00 Postage (Home delivery only) **ESTIMATED AMOUNT DUE** \$ (PRICES CORRECT AT 01/12/23)